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QUESTION 1

Your new customer, Chattawa, is the education coordinator for Bluelake County Schools. He has asked you to design a
Web site to teach school personnel in aboriginal issues. He presents you with a report about current concerns that
aboriginal children\\'s learning styles are not being addressed in the school system. He suggests that you reproduce the
report online and add aboriginal art in the margins. Whose perspective should you take as you design the site? 

A. Your perspective 

B. The site user\\'s perspective 

C. The school administration\\'s perspective 

D. The education coordinator\\'s perspective 

Correct Answer: B 

 

QUESTION 2

Sandra needs to check the hyperlinks on her company\\'s Web site to verify that the URLs are still valid. What is the
fastest method to accomplish this task? 

A. Manual link checking 

B. Site validation checking 

C. Automatic link checking 

D. Manual link optimization 

Correct Answer: C 

 

QUESTION 3

Consider the following code: 

$dbcon=mysql_connect("james.stangernet.com","example"); mysql_select_db("databaseone"); 

Which of the following describes the function of this code? 

A. It is selecting a table from the database. 

B. It is conducting a join for a new database. 

C. It is creating a connection to the database. 

D. It is selecting a database record and creating a new record. 

Correct Answer: C 
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QUESTION 4

Consider the following code: 

 

1942 

Casablanca 

Michael Curtiz 

 

What kind of code is shown in the preceding example? 

A. XML 

B. HTML 

C. VBScript 

D. activescript 

Correct Answer: A 

 

QUESTION 5

You are creating a Web site that uses a gradient fill for all page backgrounds on a site. To ensure that you can see the
gradient through the image background, you should: 

A. use TIF images with transparent backgrounds. 

B. use JPG images with transparent backgrounds. 

C. use GIF 89a images with transparent backgrounds. 

D. use GIF 89b images with transparent backgrounds. 

Correct Answer: C 
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